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NB|FEFEAS [RIF 70 700 0 700 10 0 0 0 1512 0 1188
& 70 700 0 700
1141[54R BmE 4 20 0 20 5 0 0 0 2592 0 972
& 4 20 0 20
1201|H3E T 100 1200 0 1200 12 0 0 0 0 378 0
E% 33 495 0 495 15 0 0 0 0 1404 0
GhH 133 1695 0 1695
1203[F ¥Ry [EHN 180 1800 0 1800 10 0 0 0 648 0 378
EE 300 3000 0 3000 10 0 0 0 0 810 0
& 480 4800 0 4800
1205[[F>NAE [EE 337 135 135 0 0.4 146 0 81 0 0 0
fahel 210 42 0 42 0.2 0 0 0 0 86 0
(&) 547 177 135 42
1207| B & & 1001 220 195 25
1301 [HF mE 24 48 0 48 2 0 0 0 756 0 648
=0 1760 528 0 528 0.3 0 0 0 97 0 81
= E 32 160 0 160 5 0 0 0 0 1188 0
Eh 1816 736 0 736
1311[FF EES 90 360 0 360 4 0 0 0 1350 0 918
Eh 90 360 0 360
1321 |81 mE 66 330 0 330 5 0 0 0 1620 0 1188
ZiE 70 350 0 350 5 0 0 0 1404 0 1188
= E 60 300 0 300 5 0 0 0 972 0 648
=% 30 150 0 150 5 0 0 0 0 1404 0
(&) 226 1130 0 1130
1331 [MFB»  [Za—J—5U0 100 1000 0 1000 10 0 0 0 0 1944 0
GhH 100 1000 0 1000
1351|[E—<>  |&41 2040 306 0 306 0.15 0 0 0 60 0 54
= E 20 90 0 90 45 0 0 0 0 1620 0
Eh 2060 396 0 396
1403 | KB = =) 10 10 0 10 1 0 0 0 0 1188 0
Eh 10 10 0 10
1407 |EBHE L 68 136 0 136 2 0 0 0 0 1458 0
Eh 68 136 0 136
1513[A—94> [BER 600 6000 0 6000 10 0 0 0 2808 0 1080
Eh 600 6000 0 6000
1541 | E& EE 110 1100 0 1100 10 0 0 0 1620 0 1296
Eh 110 1100 0 1100
1603|)L1) — (&) 1 10 0 10
16097 avaly  [&J 10 60 0 60 6 0 0 0 2592 0 2376
(&) 10 60 0 60
1611[LAR EF 10 100 0 100 10 0 0 0 1620 0 756
(&) 10 100 0 100
1612| =L 2R |EEF 20 100 0 100 5 0 0 0 324 0 162
(&) 20 100 0 100
IE TS 27 81 0 81 3 0 0 0 1620 0 1404
(&) 151 113 0 113
1705| T A= =40 1170 94 0 94 0.08 0 0 0 119 0 108
(&) 1170 94 0 94
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1803 | EHEE BmE 300 30 0 30 0.1 0 0 0 0 125 0
mE 150 30 0 30 0.2 0 0 0 239 0 66
GhH 900 105 0 105
1807|8E E& 150 15 0 15 0.1 0 0 0 0 49 0
% 390 78 0 78 0.2 0 0 0 70 0 67
& 540 93 0 93
* FEET * 18658 38002 465 37537
2119 HEH [ED) 20 200 0 200
22212 'S 2 20 0 20 10 0 0 0 0 4860 0
& 2 20 0 20
2731|F K EES 89 1335 0 1335 15 0 0 0 6480 0 5940
& 89 1335 0 1335
2811 | & 3 120 30 0 30 0.25 0 0 0 0 410 0
& 120 30 0 30
293573 =I5 9 4 0 4 0.4 0 0 0 0 2484 0
(G 9 4 0 4
* M FEET * 460 2977 0 2977




